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                       INDIAN SCHOOL AL WADI AL KABIR 

Class: IX            Department: Social Science Sub: Economics 

Chapter.1-WS. No.1     Topic: The Story of  Village Palampur Year: 2024-25 

 

1  What is the main economic activity of the people in Palampur? 
a) Agriculture 
b) Manufacturing 
c) Mining 
d) Services 

2. ‘Bigha’ and ‘Guintha’ are: 

(a) the type of village house 

(b) the types of Hybrid seeds 

(c) the measuring units of grain 

(d) the measuring units of land area in villages 

3 Which of the following is a standard unit of the measurement of land? 
 (a) Bigha  
 (b) Hectare 
 (c) Acre 
 (d) Guintha 

4 Which of the following crops is grown in Palampur during the Kharif season? 

(a) Rice 

(b) Wheat 

(c) Jowar 

(d) Sugarcane 

5 Which is the most abundant factor of production in India? 

(a) Land 

(b) Capital 

(c) Labour 

(d) Tools and machines 

6 Money in hand is an example of _______________________. 
(a) fixed capital 
(b) Variable capital  

(c) Working capital  

(d) Human capital 
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7. What is the source of capital for the Medium and  large farmers? 

(a) Own savings 

(b) Money lenders and relatives 

(c) Banks and money lenders 

(d) Poor farmers 

8 Which of the following terms is used for measuring the crop produced on a given piece of land during a 

single year? 

(a) Yield 

(b) Productivity 

(c) Cultivation 

(d) Output 

9  Which of the following statements is not true about small-scale manufacturing in villages? 

(a) Farmers engage in it to supplement their income 

(b) Farmers take help from their family members 

(c) The production is done mostly at home 

(d) Farmers produce articles for their own use 

10 Which among the following states was the first to implement  the modern farming methods in India? 

(a) Haryana 

(b) Jharkhand 

(c) Bihar 

(d) Odisha 

11 Where do most of the small farmers borrow money to arrange for the capital in Palampur? 

(a) Banks 

(b) Co-operative Societies 

(c) Village money lenders 

(d) Friends and relatives 

12 Which product is sold by Mishri Lal traders in Shahapur 

(a) Jaggery 

(b) Cotton Textile 

(c) Machine Tools 

(d) Fertilisers 

13 Which among the following crops are grown as the third crop in the village Palampur 

(a) Onion 

(b) Rice and wheat 

(c) Potato 

(d) All of the above 
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14 Which of the following is the main source of irrigation in the Indian villages? 
(a) Rain 
(b) Well 

(c) Rivers and streams 

(d) All of the above 

15 Chemical fertilizers can also kill bacteria and other microorganisms in the soil, which further leads to 
A. (a) Soil erosion 
B. (b)Fertile Land  
C. (c)  Soil degradation 
D. (d) Deforestation 

16 High yield variety of seeds (HYV) was introduced in India as a result of __________.  
(a) White Revolution  
(b) Green Revolution 
 (c) Project operation Flood  
(d) None of the above 

 ASSERTION AND REASON 

 In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read 

the statements and choose the correct option 

1 Assertion (A): Every production is organised by combining land, labour, physical capital and human 

capital, which are known as the factors of production. 

 Reason (R): Raw materials and money in hand are called working capital. 

 A. Both A and R are true and R is the correct explanation of A.  

B. Both A and R are true but R is not the correct explanation of A.  

C. A is true but R is false.  

D. A is false but R is true. 

2 Assertion (A):  All the villages in India do not have high level of irrigation as in Palampur. 

 Reason (R):  To increase production from the same piece of land, farmers do multiple cropping. 

 A. Both A and R are true and R is the correct explanation of A.  

 B. Both A and R are true but R is not the correct explanation of A.  

 C. A is true but R is false.  

 D. A is false but R is true. 

3 Assertion (A): A farm labourer is paid less than what is announced by the Government.  

 Reason (R): A farm labourer is ready to work on low wages by seeing the competition for work among 

the farm labourers. 

 A. Both A and R are true and R is the correct explanation of A.  

B. Both A and R are true but R is not the correct explanation of A.  

C. A is true but R is false.  

D. A is false but R is true 

 


